112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

1 NS: PRdst $8{-88GH0) 6 4 NS: Hiinss 3HEBH(BAC) - 14 16.00 : 4.00 Total VP: 36.40 Rank
EW: MiEIEY FiksfEEAC) 14 EW: [RIEIE FE1E3%(BAO) -6| IMP:| 31 13 4
A I
# 17 aT7 2SS2 110 Mean: 2SS3 140 3.0 1 # 18 » J983 2SW4 -170 Mean: 2SW4 170 6.0 1
v AQ3 2SS-1-50 40 3HE-2 100 20 1 v AKT3 3NE4 -430 -400 3NE3 -400 00 1
« J976 Dif: 160 NS:2 2SS2 110 2.0 2 + 54 Dif: 260 NS:6 4Sw4 420 1.0 1
» 9632 IMP: 4 EW:3 2SN2 110 20 1 » 864 IMP: 6 EW:1 3NE4 430 1.0 6
4 J852 » Q6 2HE-1 50 00 1 ||a AKQT5 s 76 3NE5 460 2.0 1
v J76 v T9852 2881 -50 3.0 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 » A8 & A953 » KQJ2
¢V BN 4,AKIM3 FOVAN 422
N ~~~~~ v K4 N ~~~~~ v 9765
§ ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ » QJ74 E ~~~~~ & T7
W ~~~~~ W ~~~~~
# 19 » QJ942 4SE-1 100 Mean: 4SW-4 400 9.0 1 ||#20 a T8732 6CW7 -1390 Mean: 5CW7 640 9.0 1
v 8764 3HS3140 © 5CW-2 200 50 1 v Q87 4HW6 -680 -1030 3NW5 660 9.0 1
+ 86 Dif: -40 NS:3 3HS3 140 40 2 ¢ 9872 Dif: -710 NS:-8 4HW6 680 8.0 1
& T2 IMP: -1 EW:-4 4SE-1 100 3.0 1 & Q IMP: -12 EW:-8 3NW6 690 8.0 1
s K6 ~ AT873 3NW-1 100 3.0 2 ||s A94 a6 3NW7 720 7.0 1
v A9 v QT 3HS-2 4100 30 1 ||e KJ + v A9654 6CW7 1390 -80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 a K754 4SE4 620 -12.0 1 | |a AT8752 » KJ3
F*OVABN L5 L X2 » KQJ5
v KJ532 N ~~~~~ v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 4HS4 620 Mean: 3NN5 660 80 1 # 22 & KJT43 4HE4 -620 Mean: 4HW5 650 2.0 1
v K84 3NN-2 -200 320 4HS4 620 70 5 v 4HXE4 -790 -700  4HW4 620 2.0 1
+ KJ8 Dif: 820 NS:7 4HS-1 100 -9.0 1 + AT63 Dif: 170 NS:2 4HE4 620 2.0 3
& AK942 IMP: 13 EW:11  4HN-1 100 -9.0 1 » K765 IMP: 5 EW:3 4HXW4 790 3.0 1
# J86432 & Q97 3NN-1 4100 -9.0 1 ||a AQ86 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 » J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
§ ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W ~~~~~ W ~~~~~
# 23 a9 5SW5 -650 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN-1-50 Mean: 4SS4 420 7.0 2
v 764 4SW6 -680 -580  5SW5 650 20 1 v K92 3NS-2-100 110  4SN4 420 7.0 2
+ QT982 Dif: 30 NS:-2 4SW5 650 -2.0 4 ¢ QJ43 Dif: 50 NS:-4 4SS-1 50 4.0 2
& Q876 IMP: 1 EW:3 4SW6 680 -3.0 4 &2 IMP: 2 EW:5 4SN-1 50 4.0 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v Q187 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 * K72 ¢ T85
* K S » T532 » T96543 » QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W ~~~~~ W ~~~~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

2 NS: FaEst EUREEGHO) -25 6 NS: BREEZE #K107E(BAC) 46 0.00 20.00 | Total VP: 14.37 Rank
EW: B2 52 5EIC0) 46 EW: ZhiEi8 FER1E(BAO) 25 IMP:| 1 58 9
A I
# 17 aT7 2SS-1-50 Mean: 2SS3 140 3.0 1 # 18 » J983 3NE3 -400 Mean: 2SW4 170 6.0 1
v AQ3 2SN2 110 40 3HE-2 100 20 1 v AKT3 4SW4 -420 -400 3NE3 -400 0.0 1
+ J976 Dif: -160 NS:-3 2SS2 110 20 2 ¢ 54 Dif: 20 NS:0 4sw4 420 1.0 1
» 9632 IMP: -4 EW:-2 2SN2 110 20 1 *» 864 IMP: 1 EW:1 3NE4 430 1.0 6
» J852 » Q6 2HE-1 50 00 1 || AKQT5 s 76 3NE5 460 2.0 1
v J76 v T9852 2881 -50 3.0 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v K4 N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ «T7
W~~~-~-~ W ~~~~~
#19 » QJ942 4HXS-3 -500 Mean: 4SW-4 400 9.0 1 ||#20 » T8732 6CW?7 -1390 Mean: 5CW7 640 9.0 1
v 8764 4SW-4400 © 5CW-2 200 50 1 v Q87 3NW6 -690 -1030 3NW5 660 9.0 1
+ 86 Dif: -900 NS:-11 3HS3 140 40 2 ¢ 9872 Dif: -700 NS:-8 4HW6 680 8.0 1
& T2 IMP: -14 EW:9 4SE-1 100 3.0 1 & Q IMP: -12 EW:-8 3NW6 690 8.0 1
& K6 ~ AT873 3NW-1 100 3.0 2 ||s A94 a6 3NW7 720 70 1
v A9 v QT 3HS-2 100 30 1 ||e KJ + v A9654 6CW7 1390 80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 » KQJ5
v KJ532 N ~~~~~ v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 4HS4 620 Mean: 3NN5 660 80 1 # 22 & KJT43 4HXE4 -790 Mean: 4HW5 650 2.0 1
v K84 4HS4 620 320 4HS4 620 7.0 5 v 4HE4 -620 -700 4HW4 620 2.0 1
* KJ8 Dif: 0 NS:7 4HS-1 4100 -9.0 1 ¢ AT63 Dif: -170 NS:-3 4HE4 620 2.0 3
& AK942 IMP: 0 EW:-7 4HN-1 100 -9.0 1 » K765 IMP: -5 EW:-2 4HXW4 790 3.0 1
# J86432 a Q97 3NN-1 4100 90 1 ||a AQ8S6 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~-~-~ W ~~~~~
# 23 a9 4SW6 -680 Mean: 6SW-1 100 120 1 ||# 24 » K9543 48S-1-50 Mean: 4SS4 420 7.0 2
v 764 6SW-1100 -580 5SW5 650 20 1 v K92 4SS4 420 110  4SN4 420 7.0 2
+ QT982 Dif: -780 NS:-3 4SW5 650 -2.0 4 ¢ QU43 Dif: -470 NS:-4 4SS-1 50 40 2
& Q876 IMP: -13 EW:-12 4SW6 680 -3.0 4 &2 IMP: -10 EW:-7 4SN-1 50 -40 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v QT87 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 » T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~-~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W ~~~~~ W ~~~~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

3 NS: BRSF B #F{-E(BH0) 8 8 Ns: s EMAREAC) 9 | 9.56 : 10.44| Total VP: 32.57 Rank
EW: S5 BEEEEAC) -9 EW: &igT RERI(BAO) -8 IMP:| 15 16 7
— I
# 17 aT7 2SS-1-50 Mean: 2SS3 140 3.0 1 # 18 » J983 3NE4 -430 Mean: 2SW4 170 6.0 1
v AQ3 3HE-2100 40 3HE-2 100 20 1 v AKT3 3NE4 -430 -400 3NE3 -400 0.0 1
¢ J976 Dif: -150 NS:-3 2SS2 110 20 2 o 54 Dif: 0 NS:-1 4SW4 420 1.0 1
*» 9632 IMP: -4 EW:2 2SN2 110 20 1 » 864 IMP: 0 EW:1 3NE4 430 1.0 6
# J852 » Q6 2HE-1 50 00 1 ||a AKQT5 s 76 3NE5 460 2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v Ka N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ &« T7
W~~~~~ W ~~~~~
#19 » QJ942 4SE4 -620 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 3NW5 -660 Mean: 5CW7 640 9.0 1
v 8764 3NW-1100 © 5CW-2 200 50 1 v Q87 6CW7 -1390 -1030 3NW5 660 9.0 1
+ 86 Dif: -720 NS:-12 3HS3 140 40 2 * 9872 Dif: 730 NS:9 4HWS6 680 8.0 1
& T2 IMP: -12 EW:-3 4SE-1 100 3.0 1 & Q IMP: 12 EW:8 3NW6 690 8.0 1
» K6 ~ AT873 3NW-1 100 30 2 |(|aA94 a6 3NWT7 720 7.0 1
v A9 v QT 3HS-2 100 30 1 ||e KJ + v A9654 6CW7 1390 80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 » KQJ5
v KJ532 N ~~~~~ v T32
+ AQ32 ¢ J63
& Q83 & 964
# 21 4 AT 3NN5 660 Mean: 3NN5 660 80 1 # 22 & KJT43 4HE4 -620 Mean: 4HW5 650 2.0 1
v K84 4HS4 620 320  4HS4 620 70 5 v 4HWS5 -650 -700  4HW4 620 2.0 1
* KJ8 Dif: 40 NS:8 4HS-1 4100 90 1 « AT63 Dif: 30 NS:2 4HE4 620 20 3
» AK942 IMP: 1 EW:-7 4HN-1 400 9.0 1 » K765 IMP: 1 EW:-2 4HXW4  -790 3.0 1
4 J86432 » Q97 3NN-1 400 9.0 1 ||a AQ86 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
* » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~~~ W ~~~~~
# 23 9 4SW5 -650 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN4 420 Mean: 4SS4 420 7.0 2
v 764 4SW6 -680 -580 5SW5 650 20 1 v K92 4SN4 420 110  4SN4 420 7.0 2
¢ QT982 Dif: 30 NS:-2 4SW5 650 20 4 ¢ QU43 Dif: 0 NS:7 4SS-1 50 -40 2
» Q876 IMP: 1 EW:3 4SW6 680 3.0 4 » 2 IMP: 0 EW:-7 4SN-1 50 -4.0 2
& AQJT85 & K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v QT87 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 & T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W ~~~~~ W ~~~~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

4 NS: FiFsas HEGEIC) -14 1 NS: &R $B{ZH(FH0) 6 4.00 16.00 | Total VP: 15.23 Rank
EW: BEZER: 35 E3BH0) -6 EW: BREIE 3G (BAC) 14 IMP:| 13 31 8
— I
# 17 aT7 2SS2 -110 Mean: 2SS3 140 3.0 1 [|#18 » J983 2SW4 170 Mean: 2SW4 170 6.0 1
v AQ3 2SS-150 40 3HE-2 100 20 1 v AKT3 3NE4 430 -400 3NE3 -400 0.0 1
¢ J976 Dif: -160 NS:-3 2SS2 110 20 2 ¢ 54 Dif: -260 NS:-1  4Sw4 420 1.0 1
*» 9632 IMP: -4 EW:2 2SN2 110 20 1 *» 864 IMP: -6 EW:-6 3NE4 430 1.0 6
» J852 » Q6 2HE-1 50 00 1 || AKQT5 s 76 3NE5 460  -2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v Ka N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ &« T7
W~~~~~ W ~~~~~
#19 » QJ942 4SE-1-100 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 6CW7 1390 Mean: 5CW?7 640 9.0 1
v 8764 3HS3-140 0 5CW-2 200 50 1 v Q87 4HW6 680 -1030 3NWS5 660 9.0 1
+ 86 Dif: 40 NS:4 3HS3 140 40 2 ¢ 9872 Dif: 710 NS:8 4HW6 680 8.0 1
»T2 IMP: 1 EW:-3 4SE-1 100 3.0 1 *Q IMP: 12 EW:8 3NW6 690 8.0 1
& K6 ~ AT873 3NW-1 100 3.0 2 ||a A94 a6 3NWT7 720 70 1
v A9 v QT 3HS-2 100 30 1 ||e KJ + v A9654 6CW7 1390 80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 N o KQJ5
v KJ532 v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 4HS4 -620 Mean: 3NN5 660 80 1 ||# 22 & KJT43 4HE4 620 Mean: 4HW5 650 2.0 1
v K84 3NN-2200 320 4HS4 620 7.0 5 v 4HXE4 790 -700 4HW4 620 20 1
* KJ8 Dif: -820 NS:-11  4HS-1 4100 90 1 « AT63 Dif: -170 NS:-3 4HE4 620 20 3
» AK942 IMP: -13 EW:-7 4HN-1 4100 90 1 » K765 IMP: -5 EW:-2 4HXW4  -790 3.0 1
4 J86432 a Q97 3NN-1 4100 90 1 ||a AQ8S6 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~~~ W ~~~~~
# 23 9 5SW5 650 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN-150 Mean: 4SS4 420 7.0 2
v 764 4SW6 680 -580 5SW5 650 20 1 v K92 3NS-2100 110  4SN4 420 7.0 2
¢ QT982 Dif: -30 NS:-3 4SW5 650 20 4 ¢ QU43 Dif: -50 NS:-5 4SS-1 50 40 2
& Q876 IMP: -1 EW:2 4SW6 680 3.0 4 &2 IMP: -2 EW:4 4SN-1 50 40 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v Q187 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 » T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W~~~~~ W~~~ ~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

5 NS: #HRE #5H%=GEO) -15 9 NS: 52883E SR{EAE(BAC) 10 3.10 16.90 | Total VP: 34.39 Rank
EW: $&fikEE BEZEEH(EAC) -10 EW: EI7K EHBE(BAO) 15 IMP:| 12 34 5
A I
# 17 aT7 2SS-1-50 Mean: 2SS3 140 3.0 1 [|#18 » J983 3NE4 -430 Mean: 2SW4 170 6.0 1
v AQ3 2SS2110 40 3HE-2 100 20 1 v AKT3 3NE4 -430 -400 3NE3 -400 0.0 1
+ J976 Dif: -160 NS:-3 2SS2 110 20 2 ¢ 54 Dif: 0 NS:-1 4sw4 420 1.0 1
& 9632 IMP: -4 EW:-2 2SN2 110 2.0 1 &» 864 IMP: 0 EW:1 3NE4 -430 1.0 6
4 J852 » Q6 2HE-1 50 00 1 ||a AKQT5 s 76 3NE5 460 2.0 1
v J76 v T9852 2881 -50 3.0 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 » A8 & A953 » KQJ2
¢V BN 4,AKIM3 FOVAN 422
N ~~~~~ v K4 N ~~~~~ v 9765
§ ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ » QJ74 E ~~~~~ * T7
W ~~~~~ W ~~~~~
# 19 & QJ942 3NW-1 100 Mean: 4SW-4 400 9.0 1 # 20 a T8732 6CW7 -1390 Mean: 5CW7 -640 9.0 1
v 8764 3HS3140 © 5CW-2 200 50 1 v Q87 3NW7 -720 -1030 3NW5 660 9.0 1
+ 86 Dif: -40 NS:3 3HS3 140 4.0 2 ¢ 9872 Dif: -670 NS:-8 4HW6 -680 8.0 1
& T2 IMP: -1 EW:-4 4SE-1 100 3.0 1 & Q IMP: -12 EW:-7 3NW6 690 8.0 1
& AT873 3NW-1 100 3.0 2 a6 3NW7 -720 7.0 1
v QT 3HS-2 4100 -30 1 + v A9654 6CW7 1390 -80 5
¢ 54 4HXS-3 -500 -11.0 1 ¢ AKT4
a K754 4SE4 620 -12.0 1 a KJ3
» KQJ5
v T32
¢ J63
& 964
# 21 s AT 4HS4 620 Mean: 3NN5 660 80 1 ||# 22 » KJT43 4HXE4 -790 Mean: 4HW5 650 2.0 1
v K84 4HS-1 -100 320 4HS4 620 7.0 5 v 4HW4 -620 -700 4HW4 -620 2.0 1
* KJ8 Dif: 720 NS:7  4HS-1 4100 -9.0 1 ¢ AT63 Dif: -170 NS:-3 4HE4 620 2.0 3
& AK942 IMP: 12 EW:9 4HN-1 -100 9.0 1 &» K765 IMP: -5 EW:-2 4HXW4 -790 3.0 1
# J86432 a Q97 3NN-1 4100 -9.0 1 ||a AQ86 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 * KQ * J975
& 83 » QT75 & 984 » J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
§ ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W ~~~~~ W ~~~~~
# 23 a9 4SW5 -650 Mean: 6SW-1 100 120 1 # 24 » K9543 2HN-5 -250 Mean: 4SS4 420 70 2
v 764 4SW5 -650 -580 5SW5 650 20 1 v K92 4SS4 420 110  4SN4 420 7.0 2
+ QT982 Dif: 0 NS:-2 4SW5 -650 20 4 ¢ QJ43 Dif: -670 NS:-8 4SS-1 -50 40 2
& Q876 IMP: 0 EW:2 4SW6 680 -3.0 4 » 2 IMP: -12 EW:-7 4SN-1 50 4.0 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v Q187 v A543 2HN-5 250 B0 1
¢ 764 ¢ A5 * K72 ¢ T85
* K S » T532 » T96543 » QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W~~~~~ W ~~~~~




112& < & > RAMEEHEHL 2RI

==> R3

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

TR (38.81)

6 NS: BREEEE FRfHZEIC) 46 2 NS: EEH 2IMEBO) -24 P:| 20.00 : 0.00 | Total VP: 39.70 Rank
EW: S ZS5EEH0) 25 EW: 8lfE& 5Ei5(BAC) -4 IMP:| 58 1 2
— I -
# 17 aT7 2SS-1 50 Mean: 2SS3 140 3.0 1 # 18 » J983 3NE3 400 Mean: 2SW4 170 6.0 1
v AQ3 2SN2 -110 40 3HE-2 100 20 1 v AKT3 4SW4 420 -400 3NE3 -400 0.0 1
¢ J976 Dif: 160 NS:2 2SS2 110 20 2 ¢ 54 Dif: -20 NS:-1  4Sw4 420 1.0 1
*» 9632 IMP: 4 EW:3 2SN2 110 20 1 *» 864 IMP: -1 EW:0 3NE4 430 1.0 6
» J852 » Q6 2HE-1 50 00 1 || AKQT5 s 76 3NE5 460  -2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v K4 N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ o KT983
E ~~~~~ * QJ74 E ~~~~~ «T7
W~~~-~-~ W ~~~~~
#19 » QJ942 4HXS-3 500 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 6CW7 1390 Mean: 5CW7 640 9.0 1
v 8764 4SW-4-400 © 5CW-2 200 50 1 v Q87 3NW6 690 -1030 3NW5 660 9.0 1
+ 86 Dif: 900 NS:9 3HS3 140 40 2 ¢ 9872 Dif: 700 NS:8 4HW6 680 8.0 1
& T2 IMP: 14 EW:11 4SE-1 100 3.0 1 & Q IMP: 12 EW:8 3NW6 690 8.0 1
& K6 ~ AT873 3NW-1 100 3.0 2 ||a A94 a6 3NWT7 720 70 1
v A9 v QT 3HS-2 400 30 1 ||e KJ + v A9654 6CW7 1390 -80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 N o KQJ5
v KJ532 v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 4HS4 -620 Mean: 3NN5 660 80 1 # 22 & KJT43 4HXE4 790 Mean: 4HW5 650 2.0 1
v K84 4HS4 -620 320  4HS4 620 7.0 5 v 4HE4 620 -700  4HW4 620 20 1
+ KJ8 Dif: 0 NS:7 4HS-1 100 -9.0 1 ¢ AT63 Dif: 170 NS:2 4HE4 620 2.0 3
» AK942 IMP: 0 EW:-7 4HN-1 4100 90 1 » K765 IMP: 5 EW:3 4HXW4  -790 3.0 1
4 J86432 a Q97 3NN-1 4100 90 1 ||a AQ8S6 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~-~-~ W ~~~~~
# 23 9 4SW6 680 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SS-150 Mean: 4SS4 420 7.0 2
v 764 6SW-1-100 -580 5SW5 650 20 1 v K92 4SS4 -420 110  4SN4 420 7.0 2
+ QT982 Dif: 780 NS:12 4SW5 650 20 4 ¢ QU43 Dif: 470 NS:7  4SS-1 50 40 2
& Q876 IMP: 13 EW:3 4SW6 680 3.0 4 &2 IMP: 10 EW:4 4SN-1 50 40 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v QT87 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 » T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~-~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W ~~~~~ W ~~~~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

7 NS: BB BUEIEFH0) 4 1 O NS: 818318 S5 (BAC) -30 16.68 : 3.32 | Total VP: 38.81 Rank
EW: BETH4 SBEISEEAC) 30 EW: E5E sRRH(BAO) 4 IMP:| 23 2 3
— I
# 17 aT7 2SS3 140 Mean: 2SS3 140 3.0 1 [|#18 » J983 3NE5 -460 Mean: 2SW4 170 6.0 1
v AQ3 2HE-150 40 3HE-2 100 20 1 v AKT3 3NE4 -430 -400 3NE3 -400 0.0 1
¢ J976 Dif: 90 NS:3 2SS2 110 20 2 ¢ 54 Dif: -30 NS:-2 4sSw4 420 1.0 1
*» 9632 IMP: 3 EW:0 2SN2 110 20 1 *» 864 IMP: -1 EW:1 3NE4 430 1.0 6
» J852 » Q6 2HE-1 50 00 1 || AKQT5 s 76 3NE5 460  -2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v Ka N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ &« T7
W~~~~~ W ~~~~~
#19 » QJ942 5CW-2 200 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 5CW7 -640 Mean: 5CW?7 640 9.0 1
v 8764 3HS-2-100 0 5CW-2 200 50 1 v Q87 6CW7 -1390 -1030 3NW5 660 9.0 1
+ 86 Dif: 300 NS:5 3HS3 140 40 2 ¢ 9872 Dif: 750 NS:9 4HW6 680 8.0 1
»T2 IMP: 7 EW:3 4SE-1 100 3.0 1 *Q IMP: 13 EW:8 3NW6 690 8.0 1
& K6 ~ AT873 3NW-1 100 3.0 2 ||a A94 a6 3NWT7 720 70 1
v A9 v QT 3HS-2 100 30 1 ||e KJ + v A9654 6CW7 1390 80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 » KQJ5
v KJ532 N ~~~~~ v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 3NN-1-100 Mean: 3NN5 660 80 1 ||# 22 & KJT43 4HXE4 -790 Mean: 4HW5 650 2.0 1
v K84 4HN-1-100 320 4HS4 620 7.0 5 v 4HXW4 -790 -700  4HW4 620 20 1
* KJ8 Dif: 0 NS:-9 4HS-1 4100 90 1 « AT63 Dif: 0 NS:-3 4HE4 620 20 3
» AK942 IMP: 0 EW:9 4HN-1 4100 90 1 » K765 IMP: 0 EW:3 4HXW4  -790 3.0 1
4 J86432 a Q97 3NN-1 4100 90 1 ||a AQ8S6 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~~~ W ~~~~~
# 23 9 4SW6 -680 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN-1-50 Mean: 4SS4 420 7.0 2
v 764 4SW5 -650 -580 5SW5 650 20 1 v K92 4SS-1-50 110  4SN4 420 7.0 2
¢ QT982 Dif: -30 NS:-3 4SW5 650 20 4 ¢ QJ43 Dif: 0 NS:-4 4SS-1 50 40 2
& Q876 IMP: -1 EW:2 4SW6 680 3.0 4 &2 IMP: 0 EW:4 4SN-1 50 40 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v Q187 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 » T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W~~~~~ W~~~ ~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

8 NS: SE4T4 ZREIC) 9 3 NS: BR<FR #F{ZE(F80) 8 10.44 : 9.56 | Total VP: 33.03 Rank
EW: &5 SEBEI0) -8 EW: &liil55 BRiEER(BAC) -9 IMP:| 16 15 6
— I -
# 17 aT7 2SS-1 50 Mean: 2SS3 140 3.0 1 # 18 » J983 3NE4 430 Mean: 2SW4 170 6.0 1
v AQ3 3HE-2 -100 40 3HE-2 100 20 1 v AKT3 3NE4 430 -400 3NE3 -400 0.0 1
+ J976 Dif: 150 NS:2 2SS2 10 20 2 ¢ 54 Dif: 0 NS:-1 4SW4 420 1.0 1
*» 9632 IMP: 4 EW:3 2SN2 10 20 1 » 864 IMP: 0 EW:1 3NE4 430 1.0 6
# J852 » Q6 2HE-1 50 00 1 ||aAKQT5 s 76 3NE5 460 2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 + QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v Ka N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ &« T7
W~~~~~ W ~~~~~
#19 » QJ942 4SE4 620 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 3NW5 660 Mean: 5CW7 640 9.0 1
v 8764 3NW-1-100 0 5CW-2 200 50 1 v Q87 6CW7 1390 -1030 3NW5 660 9.0 1
+ 86 Dif: 720 NS:3  3HS3 140 40 2 * 9872 Dif: -730 NS:-8 4HWS6 680 8.0 1
& T2 IMP: 12 EW:12 4SE-1 100 3.0 1 & Q IMP: -12 EW:-9 3NW6 690 8.0 1
~ AT873 3NW-1 100 30 2 |(|aA94 a6 3NW7 720 7.0 1
v QT 3HS-2 400 30 1 ||e KJ + v A9654 6CW7 1390 -8.0 5
¢ 54 4HXS-3 500 -11.0 1 ||e Q5 ¢ AKT4
& K754 4SE4 620 120 1 ||a AT8752 » KJ3
L X2 N o KQJ5
v T32
¢ J63
& 964
# 21 4 AT 3NN5 -660 Mean: 3NN5 660 80 1 # 22 & KJT43 4HE4 620 Mean: 4HW5 650 2.0 1
v K84 4HS4 -620 320  4HS4 620 70 5 v 4HWS5 650 -700 4HW4 620 2.0 1
+ KJ8 Dif: -40 NS:7  4HS-1 100 9.0 1 « AT63 Dif: -30 NS:2 4HE4 620 20 3
» AK942 IMP: -1 EW:-8 4HN-1 400 9.0 1 » K765 IMP: -1 EW:-2 4HXW4  -790 -3.0 1
4 J86432 » Q97 3NN-1 400 9.0 1 ||a AQ86 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 & QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~~~ W ~~~~~
# 23 a9 4SW5 650 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN4 -420 Mean: 4SS4 420 70 2
v 764 4SW6 680 -580 5SWS5 650 20 1 v K92 4SN4 -420 110  4SN4 420 70 2
+ QT982 Dif: -30 NS:-3 4SW5 650 20 4 ¢ QU43 Dif: 0 NS:7 4SS-1 50 -40 2
» Q876 IMP: -1 EW:2 4SW6 680 30 4 a2 IMP: 0 EW:-7 4SN-1 50 -4.0 2
& AQJT85 & K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v QT87 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 & T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W ~~~~~ W ~~~~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

9 NS: SHHE 5REBHERC) 10 5 NS: #tiRiE MER(BIO) -14 16.90 : 3.10 | Total VP: 42.74 Rank
EW FEIhR EREEGEIO) 15 EW: 15AR#E BREZEN(BAC) 1 IMP:| 34 12
I -
# 17 . T7 2SS-1 50 Mean: 2SS3 140 3.0 1 [|#18 » J983 3NE4 430 Mean: 2SW4 170 6.0 1
v AQ3 2SS2 -110 40 3HE-2 100 20 1 v AKT3 3NE4 430 -400 3NE3 -400 0.0 1
¢ J976 Dif: 160 NS:2 2SS2 110 20 2 o 54 Dif: 0 NS:-1  4Sw4 420 1.0 1
*» 9632 IMP: 4 EW:3 2SN2 110 20 1 *» 864 IMP: 0 EW:1 3NE4 430 1.0 6
» J852 » Q6 2HE-1 50 00 1 || AKQT5 s 76 3NE5 460  -2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v Ka N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ &« T7
W~~~~~ W ~~~~~
#19 » QJ942 3NW-1-100 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 6CW7 1390 Mean: 5CW7 640 9.0 1
v 8764 3HS3-140 0 5CW-2 200 50 1 v Q87 3NW7 720 -1030 3NW5 660 9.0 1
+ 86 Dif: 40 NS:4 3HS3 140 40 2 ¢ 9872 Dif: 670 NS:7 4HW6 680 8.0 1
»T2 IMP: 1 EW:-3 4SE-1 100 3.0 1 *Q IMP: 12 EW:8 3NW6 690 8.0 1
& K6 ~ AT873 3NW-1 100 3.0 2 ||a A94 a6 3NWT7 720 70 1
v A9 v QT 3HS-2 100 30 1 ||e KJ + v A9654 6CW7 1390 80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 N o KQJ5
v KJ532 v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 4HS4 -620 Mean: 3NN5 660 80 1 ||# 22 & KJT43 4HXE4 790 Mean: 4HW5 650 2.0 1
v K84 4HS-1100 320 4HS4 620 7.0 5 v 4HW4 620 -700  4HW4 620 20 1
* KJ8 Dif: -720 NS:-9 4HS-1 4100 90 1 « AT63 Dif: 170 NS:2 4HE4 620 20 3
» AK942 IMP: -12 EW:-7 4HN-1 4100 90 1 » K765 IMP: 5 EW:3 4HXW4  -790 3.0 1
4 J86432 a Q97 3NN-1 4100 90 1 ||a AQ8S6 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~~~ W ~~~~~
# 23 9 4SW5 650 Mean: 6SW-1 100 120 1 ||# 24 » K9543 2HN-5 250 Mean: 4SS4 420 7.0 2
v 764 4SW5 650 -580 5SW5 650 20 1 v K92 4SS4 -420 110  4SN4 420 7.0 2
¢ QT982 Dif: 0 NS:-2 4SW5 650 20 4 ¢ QU43 Dif: 670 NS:7 4SS-1 50 40 2
& Q876 IMP: 0 EW:2 4SW6 680 3.0 4 &2 IMP: 12 EW:8 4SN-1 50 40 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v Q187 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 » T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W~~~~~ W~~~ ~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

1 O NS: $]1E 318 =LEEAC) -30 7 NS: BRE# EREI5(BAO) -4 3.32 16.68 | Total VP: 12.76 Rank:
EW: E258 REHEBEO) 4 EW: BAtE AL S5125(BAC) 30 IMP:| 2 23 10
— I -
# 17 aT7 2SS3 -140 Mean: 2SS3 140 3.0 1 [|#18 » J983 3NE5 460 Mean: 2SW4 170 6.0 1
v AQ3 2HE-1-50 40 3HE-2 100 20 1 v AKT3 3NE4 430 -400 3NE3 -400 0.0 1
¢ J976 Dif: -90 NS:0 2SS2 110 20 2 o 54 Dif: 30 NS:-1  4Sw4 420 1.0 1
*» 9632 IMP: -3 EW:-3 2SN2 110 20 1 *» 864 IMP: 1 EW:2 3NE4 430 1.0 6
» J852 » Q6 2HE-1 50 00 1 || AKQT5 s 76 3NE5 460  -2.0 1
v J76 v T9852 2881 -50 30 4 ||v 84 I v QJ2
¢ AT2 + K543 * A2 * QJ76
& KT5 & A8 & A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N ~~~~~ v Ka N ~~~~~ v 9765
S ~~~~~ + Q8 S ~~~~~ + KT983
E ~~~~~ * QJ74 E ~~~~~ &« T7
W~~~~~ W ~~~~~
#19 » QJ942 5CW-2 -200 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 5CW?7 640 Mean: 5CW7 640 9.0 1
v 8764 3HS-2100 o0 5CW-2 200 50 1 v Q87 6CW7 1390 -1030 3NW5 660 9.0 1
+ 86 Dif: -300 NS:-3 3HS3 140 40 2 ¢ 9872 Dif: -750 NS:-8 4HW6 680 8.0 1
»T2 IMP: -7 EW:-5 4SE-1 100 3.0 1 *Q IMP: -13 EW:-9 3NW6 690 8.0 1
& K6 ~ AT873 3NW-1 100 3.0 2 ||a A94 a6 3NWT7 720 70 1
v A9 v QT 3HS-2 100 30 1 ||e KJ + v A9654 6CW7 1390 80 5
¢ KJT97 ¢ 54 4HXS-3 -500 -11.0 1 ¢ Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 » KJ3
F*OVABN L5 L X2 N o KQJ5
v KJ532 v T32
+ AQ32 ¢ J63
» Q83 & 964
# 21 4 AT 3NN-1 100 Mean: 3NN5 660 80 1 ||# 22 & KJT43 4HXE4 790 Mean: 4HW5 650 2.0 1
v K84 4HN-1100 320 4HS4 620 7.0 5 v 4HXW4 790 -700  4HW4 620 20 1
* KJ8 Dif: 0 NS:-9 4HS-1 4100 90 1 « AT63 Dif: 0 NS:-3 4HE4 620 20 3
» AK942 IMP: 0 EW:9 4HN-1 4100 90 1 » K765 IMP: 0 EW:3 4HXW4  -790 3.0 1
4 J86432 a Q97 3NN-1 4100 90 1 ||a AQ8S6 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 -200 -11.0 1 v QJ62 — v AKT873
¢ AT6 + Q54 + KQ ¢ J975
& 83 » QT75 & 984 & J3
P ¢VABN K5 oo VABN 4972
N ~~~~~ v AT932 N ~~~~~ v 954
S ~~~~~ ¢ 9732 S ~~~~~ ¢ 842
E ~~~~~ & J6 E ~~~~~ & AQT2
W~~~~~ W ~~~~~
# 23 9 4SW6 680 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN-150 Mean: 4SS4 420 7.0 2
v 764 4SW5 650 -580 5SW5 650 20 1 v K92 4SS-150 110  4SN4 420 7.0 2
¢ QT982 Dif: 30 NS:-2 4SW5 650 20 4 ¢ QJ43 Dif: 0 NS:-4 4SS-1 50 40 2
& Q876 IMP: 1 EW:3 4SW6 680 3.0 4 &2 IMP: 0 EW:4 4SN-1 50 40 2
& AQJT85 » K642 a & AT62 3NS-2 100 -50 1
v AK5 + v QT9 v Q187 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 » T96543 »QJ
P OVABN 73 oo VABN 4, QJB7
N ~~~~~ v J832 N ~~~~~ v J6
S ~~~~~ + KJ3 S ~~~~~ + A96
E ~~~~~ & AJ94 E ~~~~~ & AK87
W~~~~~ W~~~ ~~




